0 0.2 9 0.01 %)
= o = E =
»0.18 ©.009F 0
> F > E >
@ F E (] .
Fo.16f %.oosz— g :
Lo.14F 9.007F e :
8 E E 2 .
0.12F 9.006F 3 :
E S F :
0.1 B.005F :
0.08F- 0.004F B
0.06F 0.003F :
0.04F 0.002F 0.2f :
0.02F 0.00 .
o .0f o of YY) IS TIURT FRVET UTEE PRPPL FHUTE RPN OO0
E 8 1s 8 R -
T £ +... N I sty
oaf- P L] oo LT ]
0 5 10 15 20 25 30 35 40 0 10 12 14 16 18 20 0% 510 15 20 25 30 35 40
Kk hits track hits track hits
[r— TKE
—_— n
[ Fake rate vs I n
0
g
8
1Y
>
Q
)
o
>
K]
a
- - g : :
: : : o i :
L Fi] i1 : : :
D 5 10 15 20 25 v 5 10 15 20 25 0 5 10 15 20

track layers

5

6

>

8

2 4 6 8 10 12 14 16 18 20

track 3D layers

track layers

Duplicates Rate vs layer

4 5 6 7 8

track pixel layers

0 0.0%
[}
®.009
2.008
12
D.007,
%006
Q
8.005
S
2.004)
he)
0.003
0.002
0.00.

+0)

Ratio

R R

5

6 7 8 9 10
track 3D layers

25

track layers

Pileup rate vs layer

1=

0.8

0.6

pileup rate vs pixel layers

0.4

0.2

1.0

Ratio

0 1 2 3 4 5

6

7

8

track pixel layers

Pileup rate vs 3D layer

!

0.8

0.6

pileup rate vs 3D layers

0.4

0.2

Ratio

0.!

’-0 2 4 6 8 10 12 14 16 18 20

track 3D layers



	Contents
	Page 1


